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Date

Also see our Worksheets and Walkthroughs video: "Division - Traditional Long Division Algorithm Method Word Problems’

@ 75066 R8627
8989 | 674776901
- 62923 (7x8989)
45546
- 44945  (5x899)
6019
-0 (0x8989)
60190
- 53934 (6x89%9)
62561
- 53934 (6x89809)

8627

Remainder -->

Divide, Multiply, Subtract, Bring down, Repeat

Divide 8989 into 67477 (=7)
Multiply 7 times 8989 ( = 62923 )
Subtract 62923 from 67477 (= 4554)
Bring down the 6

Divide 8989 into 45546 (=5)
Multiply 5 times 8989 ( = 44945 )
Subtract 44945 from 45546 (= 601 )
Bring down the 9

Divide 8989 into 6019 (=0)
Multiply 0times 8989 (=0)
Subtract 0 from 6019 ( = 6019 )
Bring down the O

Divide 8989 into 60190 (=6)
Multiply 6 times 8989 ( = 53934 )
Subtract 53934 from 60190 ( = 6256 )
Bring down the 1

Divide 8989 into 62561 (=6 )
Multiply 6 times 8989 (= 53934 )
Subtract 53934 from 62561 ( = 8627 )
Done. No more numbers to bring down.

@ 35304 R822
5499 | 194137518
- 16497 (3x5499)
29167
- 27495  (5x54%)
16725
- 16497  (3x54%)
2281
- 0 (0x5499)
22818
- 2@(“5499)

822

Remainder -->

Divide, Multiply, Subtract, Bring down, Repeat

Divide 5499 into 19413 (= 3)
Multiply 3 times 5499 (= 16497 )
Subtract 16497 from 19413 (= 2916 )
Bring down the 7

Divide 5499 into 29167 (=5)
Multiply 5 times 5499 ( = 27495)
Subtract 27495 from 29167 (= 1672)
Bring down the 5

Divide 5499 into 16725 (= 3)
Multiply 3 times 5499 (= 16497)
Subtract 16497 from 16725 (= 228)
Bring down the 1

Divide 5499 into 2281 (=0)
Multiply O times5499 (=0)
Subtract 0 from 2281 ( = 2281)
Bring down the 8

Divide 5499 into 22818 (=4 )

Multiply 4 times 5499 (= 21996 )
Subtract 21996 from 22818 ( = 822 )
Done. No more numbers to bring down.

®

117062 R7434

8190 | 958745214
- w (1x8190)
13974
- 8190 (1x8190)
57845
- 57330 (7x8190)
5152
-0 (0x8190)
51521
- 49140 (6x81%)
23814
- 16380 (2x8190)

Remainder --> 7434

Divide, Multiply, Subtract, Bring down, Repeat

Divide 8190 into 9587 (=1)
Multiply 1 times 8190 (=8190)
Subtract 8190 from 9587 ( = 1397 )
Bring down the 4

Divide 8190 into 13974 (= 1)
Multiply 1 times 8190 ( = 8190)
Subtract 8190 from 13974 (=5784)
Bring down the 5

Divide 8190 into 57845 (=7)
Multiply 7 times 8190 ( = 57330)
Subtract 57330 from 57845 (= 515)
Bring down the 2

Divide 8190 into 5152 (=0)
Multiply 0times 8190 (=0)
Subtract 0 from 5152 ( = 5152)
Bring down the 1

Divide 8190 into 51521 (=6)
Multiply 6 times 8190 ( = 49140 )
Subtract 49140 from 51521 ( = 2381)
Bring down the 4

Divide 8190 into 23814 (=2)

Multiply 2 times 8190 ( = 16380 )
Subtract 16380 from 23814 ( = 7434 )
Done. No more numbers to bring down.
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